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Ahmedbad arts and Commerce College

Assignment
B.com Semester-4

Sub.: Cost Accounting-2

Q-1 Suppose works expenses are absorbed at 60% of labour and office expenses at 20%
of the works cost.

Actual total expenditure incurred is as follows:

Rs.
Materials 1,00,000
Labour 75,000
Factory expenses 50,000
Office expenses 40,000

Assuming that 10% of output is still in the stock and sales amounts t Rs. 2,50,000.
Prepare:

(1) Profit as per Financial Accounts

(2) Profit as per Cost Accounts

(3) Reconciliation Statement

Q-2 Following are the information’s relating to a truck consisting of 5 ton capacity of A
Transport Company:

Particulars Rs.

Cost of truck 15,00,000
Estimated life of truck 10 years

Scrap Value 10% of cost of truck
Driver's Salary(monthly) 12,000

Cleaner's Salary(monthly) 6,000

Insurance Premium(annual) 18,000

Road Tax (annual) 9,000

Supervision Expenses (annual) 1,08,000



Diesel-Oil Expenses (per litre) 60
Kilometre per litre of Diesel 10 kms
Repairing Expenses (monthly) 6,000

The truck carries goods between two cities at a distance of 50 kms.it makes two round
trip daily.it gets freight up to full capacity while outward journey and gets freight up to
80% of the capacity during return journey.

Find out cost per ton-km, assuming that the truck runs for 25 days on an average in a
month.

Q-3 (A) Nilesh took a contract worth Rs. 5,00,000 on 1-1-2024. From the following
particulars, prepare Contract A/c, Work in Progress A/c and Contractee A/c for the year
ended on 31-12-2024

Particulars Rs.
Materials issued from stores 1,21,000

Materials directly purchased for contract 25000

Plant sent (1-1-2024) 30,000
Wages paid 80,000
Other expenses 70,000
Cost of sub-contract 20,000

Cash received (75% of work certified) 3,00,000

Materials destroyed by fire 1,000
Materials returned to stores 1,000
Materials at site (31-12-2024) 5,000

Total work completed on 31-12-2024 was 90% of contract price. Depreciation to be
charged on plant at 20% p.a. as per reducing balancing method.

2/3 of profit is transferred to Profit & Loss A/c on cash received basis as per certificate
issued by architect.

(B)The following budgeted details are available from Kaivan Manufacturing Company:

Particulars Rs. Rs.
Direct Materials 2,10,000
Direct Wages:

Hardware Dept. (8,000 hours) 40,000

Software Dept. (10,000 hours) 50,000 90000



Works Overheads:

Hardware Dept. 80,000

Software Dept. 1,00.000 1,80,000
Administrative Overheads 1,20,000
Selling Overheads 70,000
Distribution Overheads 80,000

Assuming that the company follows absorption method of costing, you are required to:

(1) Prepare a Schedule of overhead rates from the figures available stating the basis of
overhead recovery rates used under the given circumstances.

(2) Work out a cost estimate for the following job based on overheads so computed:
Direct Materials: X 20 kgs. at Rs. 5 per kg.
Y 10 kgs. at Rs.20 per kg.

Direct Labour: Hardware Dept.: 60 hours

Software Dept.: 80 hours
Q-4. The Cost Ledger of Saumil Ltd. showed the following balances as on 1-4-2024:
Particulars Debit Rs Credit Rs.
Stores Ledger Control Account 45000 -—--
Work-in-Progress Ledger Control Account 35,000 -—--
Finished Goods Ledger Control Account 20,000 -—--

Factory Overheads Account -—-- 500

Administration Overheads Account 200 -

Cost Ledger Control Account -—-- 99700
1.00,200 1,00,200

The following transactions took place during the year ended on 31-3-2025

Particulars Rs.

Stores purchased 1,55,000
Stores issued to production order 1,65,000
Stores issued to maintenance of factory 8,000
Wages 2,80,000

Productive Wages 2,70,000



Unproductive Wages 10,000

Carriage Inwards 4,000
Factory overheads absorbed in production 70,000
Factory expenses 55,000
Administration Expenses 7,000

Administration expenses absorbed by finished goods 6,000

Goods finished during the year 4,80,000
Cost of finished goods sold 5,00,000
Sales expenses 5,000

Prepare necessary accounts in the Cost Ledger and a Trial Balance for the year ended
on 31-03-2025,

Q-5 MCQ

(1) Which item is not considered in Cost Accounts?
(A)Material (B)Wages
(C)Interest (D) Indirect expenses

(2) Income recorded in both Account
(A) Interest Income  (B) Income from scrap selling
(C) Rent income (D) Dividend income

(3) Which of the following illustration of 'Cost Units' generally used in various service
undertakings is not correct?

(A) Hospitals Patients-days, Room-days
(B) Passenger transport  Passenger-kilometres
(C) Hotels  Number of customers

(D) Cargo-transport  Tonne-kilometres

(4) Which of the following item is considered as fixed costs from the view point of a
transport undertaking ?

(A) Diesel (B) Depreciation
(C) Garage Ren (D) Petrol
(5) Which costing method is adopted by Construction industry?
(A) Contract costing (B) Process costing
(C) Job costing (D) Batch costing



(6) As per Contract Accounts, uncertified work means
(A) Work in progress (B) Work without permission
(C) Work not certified (D) Finished work
(7) The  Costing is used in Printing Industry.
(A) Job (B) Batch
(C) Output (D) Operating
(8) In Pharmaceutical business, which costing method is used?
(A) Contract costing (B) Job Costing
(C) unit costing (D) Batch Costing
(9) Which of the following accounts is debited on purchase of special materials for a job?
(A) Cost Ledger Control A/c (B) Stores Ledger Control Account
(C) WIP Ledger Control Account (D) Factory Overheads A/c
(10). To which account are the wages paid to workers who had gone on strike debited?
(A) Cost Ledger Control A/c (B) Costing P & L A/c
(C) Factory Overheads A/c (D) WIP Ledger Control Account
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Ahmedabad Arts and Commerce College
B.Com. Sem. IV
Cloud Accounting-2

Assignment

QL. Explain the difference between traditional account receivable management and cloud based
receivable management / URULR s (3ol Qul usld uat scllGs vl ot [dutoll Qe

U oll dglald uxes A

Q2. What are the challenges faced in manual account payable processing and how can
automation overcome them? / Noj e As1Go2 YsclcllUlA YlsAHL 52U USSIRel AULMall

5l U ® el AN et AHal 3l AlA g2 531 ¥ B2

Q3. What are the benefits of cloud accounting system in HRMS? / GBS AULUR  Hieotal

Aol tlot VUL ol SLAEL UHA1A

Q4. Explain the future trend of supply chain management with the help of Cloud. / sABSell

Heedl Aetial Aol AR Noeoll AUA dARl AHSLA.

Multiple choice questions

1. What is the key advantage of using cloud accounting system for HRMS from viewpoint of
cost?/ SALGS MR Hioicl Aot AU ol USAR ol sl Yuat sl2AEl 520 §?

A. Increase in | T. infrastructure cost/ I.T. UScR Hi clullRl
B. Pay as you go model/ZH a8l dx Ysagll 5 of 1oy
C. High investment /el AsLQL

D reducing employee training cost/s{A3Le{l AUAH ol WML YL



2.To ensure smooth adoption of cloud based HRMS organizations must prioritize_ /SALGS
WURA HRMS, daulla U0 Il AUsiteiclloll wid?l sal 12 A YR sdL vl
B A2

A. Cost reduction/usd? Hi ©aLsl
B. Vendor selection/[@3cl uxieoll
C. User training and support/aluRl sl dlcllH 1ol yHelet

D.none of the above/ BURSd 51¢5 UQlL oldl

3. Which of the following is a key component of supply chain management?/cﬂa Higdl s

AL Aol HASHoR oll Hu Us B?
A. Recruitment/¢2{l

B. Distribution/@d?Ql

C. Marketing/H3(2aL

D.Product design/Ulsse (SxL&et

4. Which technologies play a significant role in modern logistics?/ MLQ@S AR sU Ui 585

25ollcloy iUl RsL el B?

A. lLoT.

B. Al

C. Blockchain/ecls A8et



D.all of the above/GURAScl dHIH

5. Which company is known for optimum utilisation of SCM and Cloud Accounting?/s¢5 $Uoll
SCM Aal sALBS AsIBEEalell A Gualol Hiz Rl &2

A. Google/d[dlA
B. Facebook/%40]$
C. Amazon/ANAlal

D. Netflix/al2(SAsd

6. What is the term for the total amount owed by customers for goods or services delivered on
credit?/2Uu UR (Al HIA AUl AcRA HIZ2 AUESL glRL tlLSl A SEH 5H HIZ 520 2ACE

8?

A. Accounts payable/dato{l &a

B. Accounts receivable/(@ate{l Quu
C. Equity/s(sadl

D. Cash flow/\sS Uclle

7. Which cloud accounting software is used to manage accounts receivable? /Al HloL Aa

Baoll & aloll AAAA HIR sl SAGS HWUR A W s AR oll GUAL UlA B?

A. QuickBooks/ (55045



B M.S.Office/Hlef s\l g2 AU
C. Adobe Photoshop/RASlat Sl2l2lu

D. Google docs/9[2LEA Slst



Ahmedabad Arts and Commerce College

Assignment

B. Com. Sem-4
Sub: DSC C TAX2 243: Taxation-2 (Major)

Q:1 Paras Communication’s Profit & Loss Account for the year ended on 31-3-2024 is given
as under. Find out his taxable income from business and profession.

Debit 2. | Credit R
To Income tax 15,000 | By Gross Profit 9,32,000
" Professional tax 2,000 | " Bad-debt recovery 10,000
" Dividend collection exp. 1,000 | " Income-tax refund 3,000
" Exp. of house (let-out) 5,000 | " Professional tax refund 1,000
" Charity 8,000 | " House rent 80,000
" Discount 5,000 | " Dividend 12,000
" Subscription 2,000 | " Director fee 44,000
" Legal fee 3,000

" Staff Salary 5,12,000

" Staff training exps. 5,000

" Drawing 12,000

" Depreciation 78,000

" Travelling exps. 27,000

" Interest 5,000

" Group Ins. Prem. 2,000

" Net profit 4,00,000

Total 10,82,000 | Total 10,82,000

Additional Information:




o a k~ w D PE

Travelling expenses included X 21,000 of personal expenses.
Interest includes X 3,000 interest on capital and X 2,000 loan interest.
Unpaid GST is % 5,000.

Bad debt recovered X 4,000 was not allowed as bad debt.
Allowable depreciation is X 75,000.
Advertisement paid X 2,000 is not recorded in the books.

Us:1 dl. 39-3-'¥ell A% YR AUcll dAte] URY s11Jo{l32Uola] olgl-ofsAlel Wid o(lA

Yool 8. dell Ul Ane(l tiu-cacudsfl suUt vlas ossl 52A -

GulR R oy z.
UlsA 15,000 (20 o8l 9,32,000
clcAAARN 2,000 ylcwiy aycld 10,000
B(Ases ayettd Wl 1,000 aasazie Rss 3,000
QUL A HSlotoll WL 5,000 cacuiadRe] R%s 1,000
udlelcd 8,000 Hslot cug 80,000
WA clelad 5,000 (3(Asos 12,000
Al 2,000 3¥sez 4l 44,000
asla sl 3,000
sHUR A wouR 5,12,000
sHUR clcdlH Wl 5,000
GuLs 12,000




UALR 78,000
Yas3 Wl 27,000

cilof 5,000

YU BorllRed YIRan 2,000

vl o8l 4,00,000

ELS! 10.82,000 sct 10,82,000
auiell W

(1) Y3l wWAHL 3. 29,000 2L Well AHAA B.
(R) caer Usl 3.3,000 Yl UR calles el 3. 2,000 Aol UR <% B.

(3) Ml Aol Acll 5201l 3. U,000 Ysclcllotl ollsl B,
(¥) LlAMlY dyClc TSl 3. ¥,000 UG U Ul otell,

(W) HleA YUURL 3. 94,000 B.
(5) Y$AA &AWl 3. 2,000 AU AlAd «ell.

Q-2 (A) Shri Satish Vyas has provided the following details for P.Y. 2023-'24. Compute of
taxable capital gain for A.Y. 2024-25:

Sr. Assets Date of Selling Date of | Purchase Transfer
No. Sale PriceR Purchase PriceX | ExpensesX
1. Residential House 25-3-'24 1,33,65,000 1-10-'95 3,00,000 45,000
2. Listed Equity Shares 1-3-24 10,50,400 1-9-'05 8,80,800 2,400
3. Personal Motor Car 1-3-24 4,50,000 1-2-'14 4,00,000 5,000
4. Jewellery 28-2-'24 39,00,000 1-11-'20 | 31,00,000 30,000




Residential House

1-2-'24

9,00,000

Additional Information:
Fair market value of the self-residential house as on 1-4-2001: % 35,00,000.
Fair Market Value of listed shares as on 31-1-2018: X 8,50,000.
Listed shares were subject to Securities Transaction Tax (STT).

F.Y.

2001-'02

2005-'06

2013-'14

2019-'20

2023-'24

Index

100

117

220

289

348

us:2 (A) Slllet Aclal callt ula. 2023-R% HIR olA Yol HdAl wudl

. vl.cl. R0¥-AU M2 U Y3l attoll 2R3l R

sH | RAasd RN aael (S1d (3.) | wile wile (1 $0Lecll
dtlw dtlu (3.) Wi (3.)

4| 2860lo] Hslel 25-3-24 1,33,65,000 1-10-95 3,00,000 45,000

2 | ezl 1-3-24 10,50,400 1-9-05 8,80,800 2,400

AlUlAA A

3 | iold We2slz 1-3-24 4,50,000 1-2-14 4,00,000 5,000

¥ | 2314 28-2-24 39,00,000 1-11-20 31,00,000 30,000

U | R86LRle] Hslet - - 1-2-24 9,00,000 -

Il @SR ol HSlota] cll. 1-¥-20090ll A% Aol 61x1? HEU 3. 34,00,000 &d. SUs{lotl ARA
S.T.T.a Wt B. Al ARAe{l dl. 32-1-20%¢otl A%oll clixwoll ootz (BHd 3. ¢,u0,000 &dl.

sllousla oy

2001-'02

2005-'06

2013-'14

2019-'20

2023-'24

YUS UlS

100

117

220

289

348




Q:2 (B)From the following particulars of income of Shri Parag Kelshikar, Compute his
taxable income under the head “Income from other sources” for AY 2024-2025:

o Gross interest income on bank deposits: 331,250
« Dividend received on equity shares of Indian Company (T.D.S. 10%): 329,250
« Dividend received on Pref. Shares of Indian Company (T.D.S. 10%): 336,000
o Composite rent of factory Building and Machinery: 297,500
e Ground rent income: 37,500
« Sitting fee for attending meeting of Board of Directors: %75,000
e Prize won in horse race: %1,25,000
« Rent received from sub-tenant: Z18,000
« Income from unexplained sources: %1,25,000
e Interest received on 22,25,000, 10% tax-free debentures of X Ltd(TDS10%) 22,500
 Interest on 7% Capital Investment Bonds: %17,500

o Net prize money (after deduction of tax @ 30%) received on lottery won: %1,75,000

Shri Parag Kelshikar has presented the claim to get a deduction in respect of the following
expenses:

(1) Interest paid on loan taken to make investment in preference shares: < 15,000
(2) Depreciation on factory Building and Machinery: % 50,000

(3) Interest on loan taken to make investment in debentures of X Ltd.: X 6,250
(4) Expenses (cost) of lottery ticket bought: X 5,250

w2 (B) sll uwoL dctalls? ofl utasell olA WA ([Qotdl uell vustell ay
R0%-"2U HI2 el AUltollo(l s ol 2llNs d60oll suUln ulatsell aLl 52

(1) Hlos (3Ue U cauosoll ulets (ANA) 34,240
() elRclal sUe{lotl 852 AA UR HAA (S(Ases (Bl.SLAU. €2 10%) R¢,U0
(3) ellrcla sucflotl Yse AR U HAAL (3Ases (El.sL.AAU. €2 10%) 35,000
(¥) SRULellotl Hslol Wl o] U2Yscl @l - ¢O,U00
() Hloteustofl vas - 9,400
() AUEAs 313 ollSall AeuHl sles?l 213l 4l - VU000
(9) S ELSHL AUNA BollH - ,24,000
(¢) Vel altd vl HAc vds - 1¢,000
)

(€) WAL cRell AUl HA WS - 1,24,000



(10) & [ARRZSsell 20%atl 3. 2,2U4,00001l Y5 ALUAAL (SARUR UR HAA <l
@ELSLAY. ol €2 10%) - 2R,U00

(19) 9%ell 3U2H SodeNoe tllos GUR ALY - 19,400

(1) AleRell SollH (30%ail €2 3L.SL. A, olle sl olle) HAA M - 1,904,000
gl oL 3c2llsR o{lA wuuAd Wl suld d3ld alle Aoaal 12 gl 531 edll:
(1) YgRe AAHL A5l scll HE AlAA Alot UR YsA Ul - 3. 14,000

() SlRullellall Hslet Aal 242N I Y™AURL - 3. 40,000

(3) & (Aol (BAUML A5t scl W2 Al Aloto] caulos - 3. 5,2U0

(%) Al23lell R(521 idletl WLl - 3. u,2u0

Q:3(A) The total gross income of Shri Dishant Patel (58 years of age), for the accounting year
2023-'24 amounts to . 6,50,000. Compute the amount of deductions U/s 80C and 80D
available from total gross income:

%

(1) Employee's contribution to recognised provident fund (@15% of basic salary) 14,500
(2) Premium paid on his life insurance policy (taken before 1-4-2012) of ¥ 40,000 9,000

(3) Paid into Public Provident Fund A/c 75,000
(4) Contribution under ULIP of L.I.C. 12,000
(5) Investment in the eligible shares of power sector company 23,000
(6) Deposit placed with SBI (for 5-year period) 16,000
(7) Paid 35,000 towards Mediclaim Insurance Policy of self 35,000

yat:3(A) 8l (Batict uzeue avlanell se ol as 3. 6,50,000 8. (3ol ax 2023-
¥ £(M2llel AHoll Ato(l (A WAL (Aot URl SEHH COC Wal COD d60 H%?
HOA vRWR suldl ofl o1l 53 -

() Hlod WASe2 $SHL (HN UdRatl 1U% AW sH AR sLol 1¥,400
() 3. ¥0,0006{l Bidlct (Feoll flHt WAL (ctl.1-¥-2092 Udc
dlad) uR ysad YlMRan ¢,000

(3) Wods Y(Asee $SHL MY M 94,000



(¥) ot (AL [(RotHoll Ylole ds@Ad LML 0 o¥eil (ULIPYHL $LO 12,000

(W) Wtk As2e{l Hiel WodAs suslotl AAML AsLQL 23,000
(5) 2 Aos Wls BldaUloll Ui el Yectoll Fixed DepositHi %HL

5AAA 5H 15,000
(9) Wetle{l A sASH Lt QAA 219 e Yl R 34,000

Q:3 (B) Write Short Notes on :

Unexplained Investments
Deduction u/s 80G

Set off and Carry forward of Losses
Taxability of Minor’s Income

M owbdhRE

Ya:3(B) &s-ollel cull

1. WAL cORetl Asal
2. $GH 80G Y0l sUlcl
3. ofslet HISl ang wal AL WAL %,

4. AR ol was ol s2-uatdl

Q:4(A)

1. Explain the concept of GST with the help of example.
2. Explain the following definitions as per GST

a) Supply
b) Input Tax Credit
c) Business Place

USL:4(A)
1. HIA AA Acll 52 (GST) oll VALA GELSWL USld UL
2. GST Yxu o{lA galdd cavayll quosicl.,
a) yaal
b) Solye 28 bsle
c) Hulej WA

Q:4 (B)



1. Explain the salient features of GST.

2. Explain the following as per GST
a) GST Council and its functions
b) Rates of GST
c) Exemption under GST

Us:4(B)

1. HIA Aol Acl 82 (GST)ell JuAd A&tBl (Arcllr &l AHstal
2. MIA ¥l Acl 82 (GST) ol AealHl AxnA

) HIA W Acll 52 (GST) URME el Aotl sl

b) HIA AA Acll 2 (GST) all €

) HIA Aol Acll 52 (GST) Yol Y (51



Ahmedabad Arts and Commerce College,
ASSIGNMENT ( ind,Statistics)
B.COM SEM -4
DSC -M-STA-244

Q-1 write a short Note on Components of Time series

Q-1 AUHIRLs AQ otl U2sl GUR &5 olltt cAull

Q-2 find seasonal indicies for the following time series

Year Q, Q, Q; Q,

2009 65 58 56 61
2010 68 63 63 67
2011 70 59 56 52
2012 60 53 51 58

Q-2 ol Aol AR ARl 12 Wl Yusisl A

ayl Q, Q, Qs Q.

2009 65 58 56 61
2010 68 63 63 67
2011 70 59 56 52
2012 60 53 51 58
Q-3

Q-1 whatis Business forecasting ? Explain its importance

Q-1 tautsla yalof Mot Ne@ Y? doj Heecl AHA1C

Q-2 using method of exponential smoothing taking initial estimate as 100 and a(alfa)=0.4
Prepare forecast

t 1975 1976 1977 1978 1979 1980

Xt 110 120 121 125 124 122



Q-2 dlcislat A0ll50L ol I oll GUANL 531, AL of KUojHlot 100 W a(RAUESL)=0.4
Al ol Aol WAL 12 Yoot RO

t 1975 1976 1977 1978 1979 1980
Xt 110 120 121 125 124 122

Q-3 Discuss the causes of variations in a production process.

Q-3 Geuleal Y52l Hi dfRleldl Ut oll $1200 ofl Al 5.

Q-3 the number of defects noticed in 20 cloth pieces are givan below
1,4,3,2,5,4,6,7,2,3,2,5,7,6,4,5,2,1,3,8
Draw c-chart and Give your conclusion

Q-39 el el sl Higll clBet stus otl 255t A Higll UaisA o[l A YHIQ vl el 1A &
1,4,3,2,5,4,6,7,2,3,2,5,7,6,4,5,2,1,3,8

C - WAW EIRL Aol MLz Hcd sl
Q-4 Explain the following terms
AQL, LTPD, producer’s risk Consumer's risk

Q-4 o{lAetl UEL UMM A

AQL, LTPD, GAULES of BIWHH, ULES of AWK

Q-5 M.C.Q

1 Single sampling plan is denoted by.............

As [edot Aol A Add Hi................ ad elatl 2 B

(a) (n,N,d) (b)(N,n,c) (¢)(N,n,d) (d) (None of these)

2 Producer’sriskis denoted by.......... And Consumer’s Risk is denoted by.............
GAULES oll AWM a.......... ad AR UES oll WM a.......... ad galcl wa B

(a) Ba (b)aB (c) p,P, (d)None ofthese
3 Invariable chart,d,=2.326, n=5thenA,=...............



AU AHS MUAW Ui d,=2.326, n=5 8l dl A,=..........

(a) 0.598 (b)0.577 (c) 0.658 (d)0.7994 4
4 In C-chart CL=36 then UCL-=....... and LCL =.................

(a) 18,54 (b)144,0 (c)54,18 (d)None of these

5 The maximum value of AOQ available from the graph is called...........

AOQ cls Hi % WU HetH BHA HA ® Aa.......... R

(a) AOQM  (b) MAOQ (c) AOQL

(d) None of these

6 Invariable chart, Observation are 69,79,77,88 then Range =..........

UAAAHS AW Ui HAA S0 69,79,77,88 B ll Q... ald

(@) 14 (b) 16 (c)17 (d)19
7 In single sampling plane ATI =..............

As (Aol Aogoll HL ATl =............

(a) nPa - N(1-Pa)
(b) nPa + N(1-Pa)
(c) NPa+ n(1-Pa)
(d)

None of these

8 In Business Forecasting, a( Alfa) =0.4, T,=7.84, S,=10.96 &la cll T,..............

dasla yaloguiat i, aUces)=0.4, T,=7.84, S,;=10.96 &l l T,

(@) 7.78 (b) 7.90 (c) 7.84 (d) none ofthese

9 In Business forecasting, (s.value) St=....................

tauslal YelofHtot HL,AEHA St= e,

(a) St=St-1 +a(Xt-St-1)
(b) St= St + (Xt-St-1)
(c) St=St-1 +a(Xt-St)

(d) None of these



10 For a straight line equation........ normal equation are required to fit the equation

YRull oll A1520 of WocNosl sl HR......... Yy yHls200 ol %32 ud B

(@) 3 (b) 2 c) 5 (d) 6



Ahmedabad Arts and Commerce College
Assignment
B.Com. Semester — IV
Sub.: Fundamentals of Communication in English -1

Q.1. Briefly discuss any ONE of the following:
a) Process of Communication
b) Objectives of Communication

Q.2. Briefly discuss any ONE of the following:
a) Professional Communication
b) Public Communication

Q.3. Select the correct option from the given options:
(1) The process of communication ends with
a) Sender
b) Receiver
c) Decoding
d) Feedback
(2) Minimum persons are involved in communication.
a) One
b) Two
c) Five
d) Six
3) means saying much in a few words.
a) Conciseness
b) Clarity
c) Completeness
d) Courtesy
(4) In public speaking play a vital part.
a) Language
b) Tone
c) Style
d) Language, tone and style
(5) is a set of social values and moral principles.
a) Etiquette
b) Image
c) Ethics
d) Practice
(6) Overcoming fear is a part of communication.
a) Professional
b) Intrapersonal
c) Public
d) Intercultural
(7) Communication is a way process.
a) One
b) Two
c) Static
d) Neither of these
(8) The effort to encourage to do the work willingly is called



Counselling
Motivation
Warning
Complaint
mean an obstacle we have to face during communication.

Barriers

Etiquettes
Language and tone
None of these
is a plan we make to achieve something.
Note-taking
Rehearsing
Strategy
Positive Sefl-talk



Ahmedabad Arts and Commerce College
Assignment
B.Com. Semester — IV
Sub: Essential Marketing Communication

Q.1. Briefly discuss any ONE of the following:
a) Marketing Communication process
b) Types of Marketing

Q.2. Briefly discuss any ONE of the following:
a) Communication Channels of Digital Marketing
b) Emerging trends in Digital Marketing

Q.3. Select the correct option from the given options.

1) is known as the Father of Modern Marketing.
a) Arnold Wright
b) Philip Kotler
¢) Ronald Peter
d) Steve Forbes

2) Which platform is known widely for its professional networking?
a) Facebook
b) Instagram
¢) Linked In
d) Twitter

3) The Word - Email stands for
a) Electric Mail
b) Electronic Mail
c) Electronic Monitor
d) Entertaining Mail

4) The term “SEQO” stands for
a) Search Ended option
b) Search Engine Optimization
c) Search End Opt
d) Series Engaged online

5) Which of the following is not a social media platform?
a) Facebook
b) Twitter
c) Instagram
d) Google

6) What is the primary goal of marketing communication?
a) To increase the sales
b) To create brand awareness
c) To build customer relationships
d) All of the above

7) Radio, TV and newspaper ads are used mainly in marketing.
a) Traditional
b) Digital
¢) Social media
d) Influencer



8) Use of good manners and proper behaviour during digital business is known as

a) digital ethics

b) digital etiquette
c) digital platform
d) digital channel

Ahmedabad Arts and Commerce College
Assignment
B.Com. Semester — IV

Qwat: s SR AAUR

.1, o{lAettHill Slesunl Asoll Al 22l 53
a) HB(Eat rulsAlriuRell ylsan
b) HB(Botell ysl

.2, ol Aol SleSunl Asoll Al uAl s
a) (B@zct WEEatell HulelRuRAl AstA
b) (3@t WB[Eol s AU GeRcll detdll

U3, et [@scduidll wAl [@seu ude s?.
D o aylls WERoletl Ml 33 WamaHi wa 8.
a) Ulatles ASe
b) (AU slecdR
) Aslles Ule?
d) ¥la sleal
2) 53] WS dell caucURs AzalSol Wiz catusud elld 82
a) %S
b) BN
o) [Ass 8at
d) 2lde?
3) -0 2oEall W -
a) 8AGEs A8
b) sAsellels A
c) 8aAs2lals W



d) Aee2 (ol NS
4)"SEO" Asgall wed - awa B,
a) A AWeds [Ascu
b) A NGBt MR HBDAUA
c) A AUos e
d) U ARt A g
5) ollAottHiell 53] AR {32 @2 aell?
a) BUYS
b) 2lde?
) Bor2lAUH
d) ol
6) HBRoL sLyA3aletall YiaMs LA 9 &2
a) AARL culRal Hie
b) GlloS YA ctlRell HI2
) UES AU UoLU sliual He
d) GURlScl dld
7) A32A, Zlell wal UmoiRe{l 2s1dAAA BUADL Huud TR
a2 B.
a) URURLLldA
b) BB
o) ARaa S
d) SolseRAUR
8) (3(®ect (Axala e alet AL Adetld wat 092U clcdotall GURNL
3% A B.
a) (BE@zd ol[Qau=t
b) Bzt RQrerurR
o) BRect wesd
d) BRed Aot



AHMEDABAD ARTS AND COMMERCE COLLEGE
B. COM SEM-4
ASSIGNMENT (2024-25)
COURSE CODE- VAC-NYS-247
COURSE NAME: NATUROPATHY AND YOGIC SCIENCE

English Medium

Q-1 Explain the importance of yoga in health and well-being by defining yoga?
Q-2 Describe the natural and various methods and discuss the importance of naturopathy?
Q-3 multiple choice question

1. Nature Cure is primarily based on which principle?
a) Use of synthetic drugs
b) Body’s self-healing power
¢) Surgical interventions
d) Genetic modifications
2. Which of the following is NOT a key component of Nature Cure?
a) Fresh air
b) Synthetic medicines
c) Sunlight
d) Mud therapy
3. What is the role of sunlight in Nature Cure?
a) Causes more diseases
b) Provides essential Vitamin D
c) Should be avoided completely
d) Leads to dehydration
4. Which of the following is a primary method used in Nature Cure?
a) Chemotherapy
b) Diet Therapy
c) Artificial Supplements
d) Radiation Therapy
5. What is the main goal of exercise and yoga in naturopathy?
a) To reduce body movement
b) To improve flexibility, circulation, and mental clarity
c) To weaken the body
d) To promote lethargy
6. What is the primary goal of Yogic Therapy?
a) To develop physical strength only
b) To promote holistic healing of body and mind
c) To replace medical treatments
d) To focus only on meditation
7. The humming sound in Bhramari Pranayama helps to:
a) Increase digestion
b) Reduce anxiety and improve focus
c) Build muscle strength
d) Increase body temperature



AHMEDABAD ARTS AND COMMERCE COLLEGE
B. COM SEM-4
ASSIGNMENT (2024-25)
COURSE CODE- VAC-NYS-247
COURSE NAME: NATUROPATHY AND YOGIC SCIENCE

oA Al HItUH

Yat-1 ALl cautvul UL R10L Aol YL sLIHL 09Le] Hecel UM A?

ya-2 Yislds GuaRell QA ugldlle] adlet 531 wislds GuulRe] Hecel [Ardd A arlia?
Ysl-3 MCQ

1. Ulslds GuAR Yuad sal Raid uR wwRd &2

a) 5 € a1l GUAloL c) UlFsA s U
b) 231R6{l 2et-GuUAUR 2lset d) llejcl@ls 351
2. ol AottHiel 53 Uislds GUARS Yyt ues otell?
a) cllo &cll b) s € cllA c) ¥Austal d) stec GUAUR

3. ULslds GuarRul ylustasl ¢@st g &2

a) dy A2loj S1WQL ¢lal B c) AYQlua aLng A

b) %33 [Qat®at Sl yz wd & d) (S618532et RS €131 U ©
4. o{lAstimiell 56 ugld el GuaRHL Aatdl ywals usld 82

a) slH&R UL b) AUSR GUAR  ¢) sBH yagllal  d) AsA2et GUUR
5. Ulslds GUAURHL s ol 0Ll Yyl LA 9 B?

a) 23Rl afAla(@ uetsa

b) AcAlscll, URYHEL Wal HiclRls reclze2d YulRall
c) 23R slolg] ULsall
d) Yacllal Yltlget 21Ul
6. A0l GUARSA Yyl LA 9 B?
a) $5 ARIRs 2l @Qsuical w2
b) 2AR1R WA Hotoll Aol GUURA WLEot AUl HIZ
c) dolloll WRaRA el HI2
d) $5ct ot UR tllot 3(ohcl 54
7. GULHZL YU AH ML dfstRcllatl A clles AU HEE 52 B:
a) WA AL YURL saUM c) RellYlloll Ho|ALES arlRal
b) Rl 209l 5 Wl tallot 3(chd 53 d) 231Re] cluMHlotHl AR scll



